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l. Ansv;ier any. three of the followingl in not more than 60 w?rds each :
(ﬁ) . “batabase .appn.)z?ch sup.p'orts multiple views of the Data.” Elucidaté.
'_(5) Wimat do you mean by weak entity ? Can a weék.emity be-converted to a strong

entity ?
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(¢) Distinguish between the representation of association and relationship in the network and

hierarchical models.
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(d) . Discuss the purpose of defining dynamic array ina cofnputer program. How is it dii’fefem
from static array ? | |
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A firm méimains a database of its emplovees through two tables : Emp'_Delails and PayDetails,

the details of which are given below :

EmpDetails
Ficld Data Type Description
Code - Text (width:8) : Identification Code of Employee

Name | Tex(widh30) = Name of Employee




" PayDetails
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Field _ Data Type _'[.)escriptio.n
Coc'le' | Text (wi&th:8) " Identification Code of Employée
Basic Number/Long - Basic Pay for a mgnth

| Month Num"ber/By;e. Numeric value of Month

12-December)

(1-January, 2-Fébruar)-' .....

In addition, employees are paid Dearness Pay @ 40% of the Basic Pay.

Write SQL statements for the following quéries :

T

-

(.a) Retrieve the employee records consisting of Identification Code. Empldyee Name and

Basic Pay, for the month of April.

(h) Find the sum of Gross Pay of the employees for the month of February..

(¢) Retrieve alist of employeé records consisting of Identification Code. Employee Name

and Basic Pay who have been paid salary for the period March-September.

(d). Find. the sum of gross total pay of the employees for the period March-Séplember.

- P.T.O.
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(¢) Retrieve a list of employee records consisting of Identification Code, Employee Name

“and Basic Pay who have been paid salary for the month of April and whose hame begins

with alphabet "A™.

(/) Find the sum of gros

begins with alphabet “S™.
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s total pay of employees for the month of January and whose name
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The details of activiiies of a: tradin'g- e'n.t.f:rprise. Lire Enterprises are as follows :
It buys goods from a number of supplicr-s and sells goods to a number of gustomerg -

on credit basis.
P.T.O.
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© The credit terms specify the limits of credit in amount and days in respect of customers.

There is an opening stock of the items being transacted.
All the items of stock are measured in numbers. -

The sales invoice is issued subject to a specific VAT rate that varies across the items
of goods. -

Transactions are documented with details as to invoice.number. date of transaction, item

~ code and type of transaction. Each item is sold on a pre-determined fixed price that

is applicable for the entire accounting year.

(¢) Analyse and conceptualize the above reality by using ER Model that can be used for
creating a database 10 moni_lor the trading trgnsactions. Clearly stat.e the assumptions. |

(b)‘ Show ER diagrammatically for each individual entity‘ and also for thé entire reality.

S ———— R R

o s sl B e @hem ¥ SR A URE W OSR-SUR W
e A § | .

e Frw TR # e § AR o R # el 1 Rt

Excil-a
mﬁwuﬁmaﬁwmﬁﬁl’&a

= § o wE F wewed § W WA ¥



| T ) i 557
gt o o e T ¥ R T A W S o e e d
& s B ¥ B |
Waﬁmm mﬂﬁm Te-H1 3R FHAGRR TER S
| foero gR1 wafed fea s tmm_@qﬁﬁuiﬁaﬁmaﬂnﬂ
A R dw o B e A |
Im)amwwa%ﬁm@iaqm:maﬁmm@mm
mmmmﬁsamﬁmﬁﬂmmaﬁmﬁmmﬁww :
e Fifre | sfuonel @ W e B | |
(@)mﬁﬁe-ﬁﬁmmaﬁmmﬁm&maﬁ&aﬁ
' Das;:uss various control structures used in programming.
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Explain the concept of. Encapsulation, Polymorphism and Inheritance in Object Oriented
Programming. | |
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.W.I.ilé. short note's.on_ any n;:o of the.fdllowing : .
(¢) 'Mul(ival.ued &;t?l.'ibule.s
(5) Concurrency coh'trol. o '.

(¢)- BCNF.
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